2 PSE o ﬁﬁﬁiﬁ

SERIES

WWW.CHMT.COM.TW SOLUTIONS

( = | VAV

HEAOWAY



10\
2 atrolt® \

ﬁ:‘.
hE

-
P s -

g

s oL 1iliha

sN).

TAIWAN
EXCELLENCE

Chain Headway was established in 1991 and
quickly began extensive, international research
and development programs. By 2010 we received
many awards, including Taiwan Excellence and
Golden Pin Design. By focusing on cutting edge
solutions, our brands have consistently increased
productivity, profits, and competitiveness for our
customers. Our service strategies will work for
you. Chain Headway is ISO 9001 certified to
ensure that ease of communication, customer
specifications and satisfaction will be achieved
with every client. We undertake a strict testing
process for all our products and services. It is
important to us that Chain Headway can offer a
variety of complete product lines and support.
Your Trust is Our Pride. Chain Headway's
professional team serves our clients with
enthusiasm, knowledge, and efficiency, which has
built our reputation as a trusted partner and
reliable resource around the globe.

IEREMEABRATMII 19915 - MiFRKIREHRREN DB ETSIHMBEIE - 7220105

 IEBTRRESIRER - GOS8 RmREZMNEE TEXRARTNERREFNNIHRIL
RHABENEBEE - HIESAISO001EEFE  IiEBREPRENEARTELER » KB
MIEANIHR - BIEFE - REERMRED - "ENIEHR - BAINGGRE ., —BRIEIERSNG
B - ETRREASHERENSTIAERR - BARRESEENSERN - SRENEAR
ERSRBNABAE - BHEE—BRE  LEREPTIEHERNSIERSH -

SPEGIALIZED =

INDUSTRY
£55]%®

IERAE 222,000 0ER - BIRHAE
L EGNRBEREAMNIEFR - BAIBE
FABTRHBRENESHRI/ZTFAERX
HEENE - IEARRAEIR S5 RREIMH
RN EGRREEFTETEELNESRD
@ -

With over 22,000 products, Chain Headway is
able to customize production to suit any of
your manufacturing needs. Our specialists are
trained to identify and integrate your tooling
systems in order to optimize production. At
Chain Headway, we offer cutting-edge solutions
and innovative products that will help your
company succeed in an ever-changing industry.




* PSC Polygon-Taper

O T00L HOLDER SERIES

- High Torque
B8

- Superior Rigidity
R =

- Accurate Repositioning
L

3 MANUFACTURING PROCESS

FIFE1E
’””f” 4 OFFER THE COMPLETE PRODUCT

LINE AND TECHNICAL SKILLS

e A SE R 0V B oo #R B 2 AR 35

5 SALES BY CONTINENT

BRI

6 FEATURES AND USAGE

S b

7 COMBINATION CHART
PsciESE

= REFERENCE DETAILS

58N

10 CobDING KEY

it 152 &8

11 PRODUCGCTS

E s



High-fnd =~
Manufact uring

MAZAK &
DMG MORI SEIKI

*Stable Production
£EETE

*High Efficiency
IRERRER

KELLENBERGER

*Highly Accurate Grinding
KBS

ZEISS

*Maximum Optical Precision
N E AR

MAHR

*High Resolution Evaluation
R E R %



Gutting-Edge
Products

L HAIN

~ HEAIOWAY

oais BT RAVHED

ERSXEENMNIHEXK - RFINERKSSTIE - 1))
HIZIE - TREHTE - MBEEMAESAEE L - M
#SH—A_ - [BURNEEERER 7 EREENEX
BER i BB B R B RO E R B A T SUERAY - 2377 fEdn -
HFIRAREERITEZEEE  DULRHSIRENE
mARERIREMNEEASE -

QQUALITY:IMPECCABLE

With so many cutting-edge products, such as
arbors, holders, cutting tools, inserts, and
accessories, our attention to detail is second to
none. We undertake a strict testing process for
all our products and services. It is important
that Chain Headway can offer a variety of
complete product lines and support from
cordial, friendly specialists. In order to achieve
our mutual goals, it is imperative to help
clients with their needs and be ready to
communicate and assist at any time.

== =
REF
SESHERSERMMEREYG  §5E
PRIREEFREEISO-9001 - SEERINN T &b
ERASHEENENERBAER  BEZ
IHE R EF) -

PRECISION CHUCKS

Our high precision chucks and
accessories meet all requirements of
the 1SO-9001 standard. Produced by
advanced processing equipment, then
inspected by precision tools and
gauges, we stand behind our various
global patents with pride.

FIND MORE
CUTTING EDGE SOLUTIONS

WWW.CHMT.COM.TW



Jop Sales
by Continent

(=)

NORTH R Za
AMERICA EUROPE ASIA

COMPATABLE, BUT NOT AFFILIATED,
WITH VARIOUS CAPTO PRODUCTS.

AIUEARZHEN cAPTOES

Maximum BPMs PsC32(C3): 55000 r/min
= SERPY PSCA40(C4): 39000 r/min
BARE PSC50(C5): 28000 r/min
PSC63(C6): 20000 r/min
PSC80(C8): 14000 r/min




% PSEFezemREns

TRIANGULAR POLYGON
CONE DRIVER

=AHRR

MAGAZINE AND

SPINDLE SOCKET

[—]
\

THROUGH-TOOL FEENIE
COOLANT

1:20 TAPER WITH
HK 3L

DUAL-CONTACT

KA :20#E
HEEITRAVIEE
4 ATC SOCKETS
WESIPSES- 1
FIRATCEEEN

EXTENSION
ALIGNMENT

BRZE
RCERRHE

EEREURES HIGH PREGISION COUPLING
XYZ@ RN EEENBESEL2um » JJ The precision during repeated coupling in the XYZ

- direction is *2um and the run-out accuracy is 3um.
BitBENERNRERERZ3um -

UNIQUE DUAL CONTAGT DESIGN

BN E|DRERET The coupling structure is a high precision triangular
5 = = 0= S EE | form with a 1:20 taper for dual contact and tight
E%’E*E’_‘EE*%EE'J_%ﬁﬁg }*FE clamping. Designed without drive keys evenly
1:203#E B EIYRAVR GRS - £EH| distributes torque without balance irregularities. There
NIt AESEEMRE - Bl ERH are no axial discrapencies during lathe turning due

=72 - BYNIBEERET9% » 2 to consistant positioning.

=S - INGREASE PRODUGTIVITY
Rigid clamping for superior stability and precision,
ﬁigwg which produces minimal wear and a longer tool life.

The universal applications and modular interface
¢a=3 N (o=l y=E=
BEmyxRyy - RIGIREIEREBE - 7 allow manufacturers to save time and space.

B ERERILIBIIAESM - B2
HERSIVE CER{ERESE - &
II&ESUESREMEZERE -

:’ é' 1 A 'E
'ILZI-\ /g =]
TAIWAN EXCELLENCE

FIND MORE
CUTTING EDGE SOLUTIONS
WWW.CHMT.COM.TW




Milling:

S

PSC + IAP
PSGC + CIAP

—

PSC + MAP

45 G
- L-

FAGCE MILLING CUTTERS

) 9

PSC + CMAP
N

W

L

“ lq'l Ll‘}
'§ _;'¢ 4

COLLET
SEALED mi PSC + MLD
CAP
SEALED %W
COLLET gaime P

Ly
s

7N

L

PSC + SFC

«§

—
o @. PSC + ER
- o
WRENCHES NUTS COLLETS
—_— et eratid *m
- | P —
st
_ COLLET ‘

PSC + SBL

o -

WRENCHES

se—
. e ’%

PSC + SKS

I Qﬁ*ﬁ:

t - COLLET

PSC + SLN

COLLET PSC + PNER

el N i NN

PSC ADAPTER

BLANK PSC
ADAPTER



BT + PSC ADAPTER

S

DAT + PSC ADAPTER

HSK + PSC ADAPTER

TEST BAR

""' ”i”yzzﬁ?
e @

PSC / MWLN PSC / MTJN PSC / MDNN PSC / MCMN

X

PSC / MCLN PSC / MDJN PSC / MVLN PSC / MVVN

i,

PSC / MCLN PSC / MDJN PSC / MVLN

PSC / S25R PSC / SN20O PSC / SV20R/L

Boring..:

o PORPRE BORING CUTTER
3 o
- AR
PSC + PBJ P > i X -
:‘ Pt ; :
— ‘2 R ) -‘_—-'
tatad - I
PSC + PCK PSC + SBJ
==l
P <@
LR
_l———-__“
PSC + PMB ACCESSORIES

A ’ A
et *‘“&Q P " o
., S 4
EXTENSION SCK BORING HEAD

PSC + MCK SPACER

=

SMB BORING HEAD




; 11

17
1T £ I ‘;8 /L Jh
s |—
v T i
d 1 - b3 -
- b -
)
specification
PSC32 | 39 27.9 32 15 165 | M12x15P | 25 19 15 6 135
PSC40 46 34.9 40 18 20 M14x1.5P 2.5 24 20 9 17.5
PSC50 59.3 44 50 21 24 M16x1.5P 3 30 20 10 22
PSC63 70.7 554 63 28 32 M20x2.0P 3 38 22 11 26
PSC80 86 70.7 80 32 38 M20x2.0P 3 48 30 20 34
HEEE Taper Tolerance: <AT3.
EE Hardness: >HRC 56°.
BEEE Carbon depth: >0.8mm.
BEEE Roundness: <0.8um.
FEEEE Surface roughness: Ra <0.25um.
TR EERIE TS Shank Pre-balance: G6.3
O BN IEEEZE) T H# Optional Balance: G2.5
AEEIRED Shank Standard: ISO 26623-1.



ﬁ ﬁ ﬁ iﬁ ISO 26623-1
CODING KEY

Adapter Clamping Mechanism Relief Angle | Length
EORN EiRHE SN B RELHE
Godo Gode | Function | Gode | Fupction %o [Pl S | 6.35 | 7.94 |9.525[12.0012.70
Back Clamp Multi Clamp A °
PSC32(C3) A | TR i FE= | o 2
PSC40(C4) C TopCEIamp P Pin Lock
PSC63(C6) | | D |"weaimst | S | ma= | [ D1 15 | [ —
PSC80(C8) E Off-Set Pin T Taper lock E 20 /1 35° " . 16 - -
PSC80X(C8X) s izEs SEESES | | F | 25° O
£ 7l N S S S L
Back Clam _
JT | Back Slame ST VAN 11 | 13 | 16 22
— L -] - oo | - | 12
Q| - - | o6 | - | o8

065 12

PSC63

Cutters effective length

DRBHER

Graphics

JiZ

d1 size

dIRY

Graphics

JiZ

Rake Angle
ENRE

Cutting Direction

tIEI7S
Code | Graphics
BCOR Eh

Shape
TR R

Code | Angle
ECiE | A

Code
SC5R

Graphics
Ehig

Code ‘ Graphics
ek )i

‘ Graphics
i

80° 90° 50°%
A ﬂ M
[T

D

55° B 75‘?]7 N 63“%
K LT
R - O C o % P 117.5‘%%
o * 7 [r]" T
T - A
V| 35 | < E BOOW S 450% }

° 90° P 60° \
A s
L - 1
90° 93°

H 12000 O © E[H d %
A | 8° | [7 H 107.5°ﬁ v 72.5°%
A=A s e
E|75° | O
M| s | O k| ﬁ v |® %ﬂ
o135 | O e tﬁ
P [108°| ()




IMEEE ]
EXTERNAL TURNING

fii#FE AccessoRrIESs
RS . -

SpeC|f|cat|on Insert P SHIM 1244 SCREW #®F WRENCH

CMS432 MLP46L-A PL2.5

PSC32-MCLNR-22045-12
PSC32-MCLNL-22045-12
PSC40-MCLNR-27050-12
PSC40-MCLNL-27050-12

64 45 32 22 18.1

74 50 40 27 225

CN--1204 .
PSC50-MCLNR-35060-12 i CLAMP #iF WRENCH
90 60 50 35 | 2865 MC620 oL3
PSC50-MCLNL-35060-12
[\
PSC63-MCLNR-45065-12 @)‘
103 65 63 45 31 )

PSC63-MCLNL-45065-12

®-
= Pab/MDJ

IMEERT] 5026629
EXTERNAL TURNING

R

Specification

HE SHIM 1244 SCREW #RF WRENCH

PSC32-MDJNR-22045-15 DMS442 MLP46L-A PL2.5

64 45 32 22 18.1
PSC32-MDJNL-22045-15

PSC40-MDJNR-27050-15
PSC40-MDJNL-27050-15

DN--1504
PSC50-MDJNR-3506015 BT CLAMP

90 60 50 35 | 2865 MC622

PSC50-MDJNL-35060-15
PSC63-MDJNR-45075-15
PSC63-MDJNL-45075-15

74 50 40 27 225

113 75 63 45 31

e | 11



E/MTINZ i
EXTERNAL TURNING
d-
- I | 8°
_%:3° ~ .L\

ds

Fi=pr-d ficftFE AccessoRrIEs

Specification

BE SHiM §24% SCREW RFE WRENCH

PSC32-MTJNR-22045-16 TMs322 MLP43L-A PL25
64 45 32 22 18.1
PSC32-MTINL-22045-16 NS / ‘ﬂ
PSC40-MTJNR-27050-16 y ‘ N.m 50
74 50 40 27 | 225
PSC40-MTJINL-27050-16
TN--1604 7
PSC50-MTJNR-35060-16 FEH GLAMP FPp—— #iF WRENGH
90 60 50 35 | 2865 MCéa e iy

PSC50-MTJNL-35060-16

PSC63-MTINR-45065-16 @‘ A
103 65 63 45 31 ) Nm 50

PSC63-MTJINL-45065-16

= MWl” 9#?@%7] 1SO 26623-1
%‘( EXTERNAL TURNING

4

S " IR fic{k3F+E AccessoRrIES

Specification Insert

HE SHIM 1244 SCREW ®F WRENCH

PSC32-MWLNR-22045-08 WMS432 MLP46LA PL2.S

64 45 32 22 18.1
PSC32-MWLNL-22045-08 @
PSC40-MWLNR-27050-08 !

74 50 40 27 225
PSC40-MWLNL-27050-08

WN--0804

PSC50-MWLNR-35060-08 iR cLAMP 184 SCREW RF WRENCH

90 60 50 35 | 2865 MCs20 o

PSC50-MWLNL-35060-08
PSC63-MWLNR-45065-08 Qg\‘
'h o~

103 65 63 45 31 AN
PSC63-MWLNL-45065-08 .

1z | &



IMEEE ]
EXTERNAL TURNING

L d:

4 AN

R

Specification HE SHIM 1244 SCREW RFE WRENCH

PSC32-MVLNR-20050-16 VMS322 MLP34LA
69 50 32 20 | 181
PSC32-MVLNL-20050-16
PSC40-MVLNR-27055-16
79 55 40 27 | 225
PSC40-MVLNL-27055-16
VN--1604
PSC50-MVLNR-35060-16 9 60 50 35 28.65 [z cLAMP 1244 SCREW RF WRENGH
PSC50-MVLNL-35060-16 ' Mo M5620
PSC63-MVLNR-45075-16
113 75 63 45 31
PSC63-MVLNL-45075-16

S PSC/MOMN 252l i

#HE SHIM

DMS432

ST

s

& 7R \IC}

Specification Insert

PSC32-MCMNN-00050-12 69 50 32 i cLAMP
PSC40-MCMNN-00060-12 84 60 40 MC620
CN--1204
PSC50-MCMNN-00070-12 100 70 50 @‘
PSC63-MCMNN-00100-12 138 100 63 B

e 13



SMEERT]
EXTERNAL TURNING

fii#FE AccessoRrIESs

HE SHIM 1244 SCREW R F WRENCH
DMS442 MLP46L-A PL2.5

A & W ‘ N.m 5.0

Specification

PSC32-MDNNN-00050-15 [Efy CLAMP 1244 SCREW IRF WRENCH

PSC40-MDNNN-00060-15 84 60 40 MC622 MS625 PL3
DN--1504 g

PSC50-MDNNN-00070-15 100 70 50 <5 Iﬂ
PSC63-MDNNN-00100-15 138 100 63 - | pFms>2

9I\ ?éTé E 7J 1SO 26623-1
EXTERNAL TURNING

] SHIM
VMS322

R TR

Specification Insert

PSC32-MVVNN-00055-16 iR CLAMP
PSC40-MVVNN-00060-16 84 60 40 VN-160
PSC50-MVVNN-00070-16 100 70 50 N
PSC63-MVVNN-00100-16 138 100 63 '

14 | &



*

< PSG/SV2

—
= -

IMEEETIER
EXTERNAL TURNING

o O O O

ISO 26623-1

L
FRIE
Specification hh I2 d h hs
PSC50xSV20R-123
153 123
PSC50xSV20L-123
97 90 20 16
PSC63xSV20R-125
163 125
PSC63xSV20L-125
PSC80XSV32R-150
198 150 114 120 32 20
PSC80xSV32L-150
/—
% 9|\ « E 7] palal
1:': = 1SO 26623-1

-

EXTERNAL TURNING

d-

<—>|
A >\
I / d
~ | O
_/
© 45° v
I } h
L

g
Specification lh di d2 h
PSC50xSN20R-97

127 97
PSC50xSN20L-97

72 315 20

PSC63xSN20R-99

137 99
PSC63xSN20L-99
PSC80xSN32R-135

183 135 140 45 32
PSC80xSN32L-135

€| 15



PSE/S20 12575 i
EXTERNAL TURNING

_ \3\0 .
o -© ¢

2 h
I

R&
Specification I I2 d1 h
PSC50xS20R-98

128 98 68
PSC50xS20L-98

90 20

PSC63xS20R-100

138 100 75
PSC63xS20L-100
PSC63xS25R-130

168 130 102 103.5 25
PSC63xS25L-130
PSC80xS32R-140

188 140 130 110
PSC80xS32L-140 "
PSC80XxS32R-143

191 143 133 145
PSC80XxS32L-143

16 | &



E% I%gﬁﬁjj 1SO 26623-1
END MILL CUTTER

L

A
Y

Ui
===t

G

Specification

PSC32xIAP16-50-2T 16 9
PSC32xIAP20-50-2T 25 20
PSC32xIAP20-50-3T 3
69 32
PSC32xIAP25-50-2T 2
50 32 25
PSC32xIAP25-50-3T 3
PSC32xIAP32-50-3T 35 32
PSC40xIAP16-50-2T 16
74 25 AP--1003
PSC40xIAP20-50-2T 20 2
PSC40xIAP25-55-2T 40
79 55 32 25
PSC40xIAP25-55-3T
PSC40xIAP32-65-3T 89 65 40 32
PSC50xIAP20-95-3T 20
125 95 3
PSC50xIAP25-95-3T 45 25
PSC50xIAP32-65-3T 95 65 0 50 32
PSC50xIAP40-80-3T 110 80 40
PSC50xIAP50-60-5T 50 AP--1604
90 60 60 5
PSC50xIAP63-60-5T 63
PSC63xIAP20-110-3T 148 110 40 20 3
PSC63xIAP20-165-2T 203 165 60 2
PSC63xIAP25-110-3T 148 110 45 25
fcF 3R AccessorieEs
PSC63xIAP32-80-3T 118 80 40 32 3 AP--1003
PSC63xIAP32-110-3T 148 110 50 JJR INSERT IRF WRENCH
PSC63xIAP40-80-4T 4 AP--1003 M2.5-6.45-3.7-60 T8
118 80 40
PSC63xIAP40-80-5T 63 | 40 [ 5 \\\\\\\\‘@
PSC63xIAP40-100-3T 138 100 50 3 \
PSC63xIAP50-80-4T 118 80 40 50 4
PSC63xIAP63-60-5T 38 63 JIB INSERT 42 #RF WRENCH
78 60 AP--1604 AP--1604 M4-10-5.7-60 T15
PSC63xIAP66-60-5T 60 66 5 :
PSC63xIAP66-80-5T 118 80 80 @ \\\\\\\\\\ :&
PSC63xIAP80-60-6T 98 60 60 80 6 | !

e\ 17



E% I% giﬁﬂ 1SO 26623-1
END MILL CUTTER

L

|
| |

R

Specification

PSC32xCIAP16-50-2T 16 9
PSC32xCIAP20-50-2T 25 20
PSC32xCIAP20-50-3T 49 2 3
PSC32xCIAP25-50-2T 2
50 32 25

PSC32xCIAP25-50-3T 3
PSC32xCIAP32-50-3T 35 32
PSC40xCIAP16-50-2T 16

74 25 AP--1003
PSC40xCIAP20-50-2T 20 2
PSC40xCIAP25-55-2T 40

79 55 32 25
PSC40xCIAP25-55-3T
PSC40xCIAP32-65-3T 89 65 40 32
PSC50xCIAP20-95-3T 20

125 95 3
PSC50xCIAP25-95-3T 45 25
PSC50xCIAP32-65-3T 95 65 40 50 32
PSC50xCIAP40-80-3T 110 80 40
PSC50xCIAP50-60-5T 50 AP--1604

90 60 60 5
PSC50xCIAP63-60-5T 63
PSC63xCIAP20-110-3T 148 | 110 40 2 3
PSC63xCIAP20-165-2T 203 | 165 60
PSC63xCIAP25-110-3T 148 | 110 45 25

fo 3K AccessoriEs

PSC63xCIAP32-80-3T 118 80 40 32 3 AP--1003
PSC63xCIAP32-110-3T 148 110 50 J]JR INSERT 1224 SCREW RF WRENCH
PSC63xCIAP40-80-4T 4 AP--1003 M2.5-6.45-3.7-60 T8

118 80 40
PSC63xCIAP40-80-5T 63 | 40 | 5 @ &\\\\\\\‘@
PSC63xCIAP40-100-3T 138 | 100 50 3 \
PSC63xCIAP50-80-4T 118 80 40 50 4
PSC63xCIAP63-60-5T 38 63 JH INSERT 1844 SCREW R F WRENCH

78 60 AP--1604 AP--1604 M4-10-5.7-60 T15
PSC63xCIAP66-60-5T 60 66 5 -
PSC63xCIAP66-80-5T 118 80 80 @ \\&\\\\\\\‘@ :[ls
PSC63xCIAP80-60-6T 98 60 60 80 [¢)

18 | &



€

. PSG/MAP =22 e

L

|2

1 _ - >
(]:D ?—A_

A ks
Specification Insert
PSC32xMAP16-50-2T 16 9
PSC32xMAP20-50-2T 25 20 AP--1135
PSC32xMAP20-50-3T 69 32 3
PSC32xMAP25-50-2T 2 AP--1604
50 32 25
PSC32xMAP25-50-3T 3 AP--1135
PSC32xMAP32-50-2T 35 32 AP--1604
PSC40xMAP16-50-2T 16
74 25 2 AP--1135
PSC40xMAP20-50-2T 20
PSC40xMAP25-55-2T 40 AP--1604
79 55 32 25
PSC40xMAP25-55-3T 3 AP--1135
PSC40xMAP32-65-2T 89 65 40 32 2 AP--1604
PSC50xMAP20-95-3T 20
125 95 3 AP--1135
PSC50xMAP25-95-3T 45 25
PSC50xMAP32-65-2T 95 65 40 50 32 2
PSC50xMAP50-60-5T 50 AP--1604
90 60 60 5
PSC50xMAP63-60-5T 63
PSC63xMAP20-110-3T | 148 110 40 2 3
PSC63xMAP20-165-2T 203 165 60 2
PSC63xMAP25-110-3T 148 110 45 25
fo#F 3K AccessoriESs
PSC63xMAP32-80-3T 118 80 40 32 3 AP--1135
PSC63xMAP32-110-3T 148 110 50 JJR INSERT 1244 SCREW ®F WRENCH
PSC63xMAP40-80-4T 4 AP--1135 M2.5-6.0-3.5-60 T8
PSC63xMAP40-80-5T 118 80 40 63 40 5 @
X = ] K\&\\\\\\\‘
PSC63xMAP40-100-3T | 138 100 50 3
PSC63xMAP50-80-4T 118 80 40 50 4
PSC63xMAP63-60-5T 38 63 TR INSERT 1244 SCREW #RF WRENCH
98 60 AP--1604 AP--1604 M4-10-5.7-60 T15
PSC63xMAP66-60-5T 60 66 5 :
PSC63xMAP66-80-5T 118 80 80 \\&\\\\\&‘@ :&
PSC63xMAP80-60-6T 98 60 60 80 6

19



R

Specification

BEAS

379l

1SO 26623-1

END MILL CUTTER

A

Y

TR

Insert

PSC32xCMAP16-50-2T 9
PSC32xCMAP20-50-2T 25 20 AP--1135
PSC32xCMAP20-50-3T 69 32 3
PSC32xCMAP25-50-2T 2 AP--1604
50 32 25

PSC32xCMAP25-50-3T 3 AP--1135
PSC32xCMAP32-50-2T 35 32 AP--1604
PSC40xCMAP16-50-2T 16

74 25 2 AP--1135
PSC40xCMAP20-50-2T 20
PSC40xCMAP25-55-2T 40 AP--1604

79 55 32 25
PSC40xCMAP25-55-3T 3 AP--1135
PSC40xCMAP32-65-2T 89 65 40 32 2 AP--1604
PSC50xCMAP20-95-3T 20

125 95 3 AP--1135
PSC50xCMAP25-95-3T 45 25
PSC50xCMAP32-65-2T 95 65 40 50 32 2
PSC50xCMAP50-60-5T 50 AP--1604

90 60 60 5
PSC50xCMAP63-60-5T 63
PSC63xCMAP20-110-3T 148 | 110 40 20 3
PSC63xCMAP20-165-2T | 203 | 165 60 2
PSC63xCMAP25-110-3T 148 | 110 45 25
PSC63xCMAP32-80-3T 118 80 40 32 3 AP--1135
PSC63xCMAP32-110-3T 148 | 110 50
PSC63xCMAP40-80-4T 4

118 80 40
PSC63xCMAP40-80-5T 63 40 5
PSC63xCMAP40-100-3T 138 | 100 50 3
PSC63xCMAP50-80-4T 118 80 40 50 4
PSC63xCMAP63-60-5T 38 63

98 60 AP--1604
PSC63xCMAP66-60-5T 60 6 5
PSC63xCMAP66-80-5T 118 80 80
PSC63xCMAP80-60-6T 98 60 60 80 6

fid{kFE AccessoRrIES

JJE INSERT
AP--1135

&

M2.5-6.0-3.5-60

«©

RF WRENCH
T8

JJE INSERT
AP--1604

1244 SCREW
M4-10-5.7-60

#RF WRENCH
T15

— k

20 | &



SR E AR (sEE) .

COLLET CHUCK (NON WIND RESISTANCE)

NON WIND RESISTANCE

#= 21 PR

d2

n;
|

REHFE G2.5 36000rpm

STANDARD BALANCE OF G2.5 AT 36000 RPM.
é?)iiﬁcation b B d2 e U S?zze%&iﬂn%e
PSC32xSKS6-45-HS 28 18 18 M8 x 1.25P @3~D6
PSC32xSKS10-45-HS * 29 30 30 M12x 1.75P 22~010
PSC40xSKS6-50-HS 18 18 M8 x 1.25P D@3~D6
PSC40xSKS10-50-HS . 28 30 30 ) 22~010
PSC40xSKS13-50-HS 29 35 33 ?3~013
PSC40xSKS16-50-HS 313 40 40 M18x 1.5P @3~016
PSC50xSKS6-60-HS 18 18 M8 x 1.25P D?3~@6
PSC50xSKS10-60-HS 35 30 30 M12x 1.75P 22~010
PSC50xSKS13-60-HS 60 35 33 @3~013
PSC50xSKS16-60-HS 38 40 40 ) @?3~016
PSC63xSKS6-90-HS 46 18 18 M8 x 1.25P @3~B6
PSC63xSKS10-90-HS 90 60 30 30 M12x 1.75P 22~010
PSC63xSKS13-90-HS 63 35 33 - @3~013
PSC63xSKS16-100-HS 71 40 40 M18 x 1.5P ?3~@16
PSC63xSKS20-100-HS 100 75 48.5 48.5 M22 x 1.5P @3~020

e 21




?é }ﬁ Ec ﬁ iﬁ 7J m EE 1SO 26623-1

SLIM-FIT COLLET CHUCK

1REE T G2.5 36000rpm

STANDARD BALANCE OF G2.5 AT 36000 RPM.

—_— _
L_Fﬂ:\l = ] d1‘
V
B
- l -
- h -

& K& E
Specification Size Range
PSC32xSBL6-75 75 58 14 20.1 Mé x 1.0P @3~B6
PSC32xSBL12-90 90 74 26 31.2 M10x 1.5P ?3~012
PSC40xSBL6-75 75 43 14 18.5 Mé x 1.0P @3~D6
PSC40xSBL12-90 90 68 26 31.9 M10x 1.5P @3~012
PSC40xSBL20-105 105 57 35 40 M12x 1.75P @3~020
PSC50xSBL6-80 80 45 14 18.8 Mé x 1.0P @3~B6
PSC50xSBL12-105 105 80 26 33 M10x 1.5P ?3~012
PSC50xSBL20-115 115 94 35 43.2 M12x 1.75P ?3~320
PSC63xSBL6-80 80 43 14 18.5 Mé x 1.0P D3~06
PSC63xSBL12-100 100 69 26 32 M10x 1.5P @3~012
PSC63xSBL20-120 120 91 35 42.9 M12x 1.75P ?3~@20
PSC80xSBL6-80 80 40.5 14 18.2 Mé x 1.0P D3~06
PSC80xSBL12-100 100 312 26 60.4 M10x 1.5P @3~012
PSC80xSBL20-120 120 42 35 80.4 M12x 1.75P ?3~@20
B/ EERET - R34 sHMEERET -
| BRETSHER - | SENEZMANIAISST] -

FEATURES

S

REEE -

Our 4° taper makes it easy

to loosen while increasing
clamping strength and stability.

The slim shank
reduces interference.

A\ EIRERET

| ERERIRE -
EESE®ENT -

The built-in collet does
not need a clamping nut
and is perfect for high
speed processing.

AR
| Standard balance of
G2.5at 25000 rpm.

22

L



. PSC/SFE 227" i

Fig.1

Fig.2

BN G2.5 36000rpm

STANDARD BALANCE OF G2.5 AT 36000 RPM.

g T
Specification
PSC40xSFC6-75 [¢) M5 x 0.8P 2
36 53 20 26
PSC40xSFC8-75 75 8 Mé x 1.0P
PSC40xSFC10-75 42 10 M8 x 1.25P
54 24 32
PSC40xSFC12-75 12
47 M10x 1.5P
PSC40xSFC14-80 14 1
27 34
PSC40xSFC16-80 80 50 59 16
M12x 1.75P
PSC40xSFC18-80 18
52 33 42
PSC40xSFC20-85 85 64 20 M16 x 2.0P
PSC50xSFC6-75 6 M5 x 0.8P 2
36 53 20 26
PSC50xSFC8-75 75 8 Mé x 1.0P
PSC50xSFC10-75 42 54 10 ” 3 M8 x 1.25P
PSC50xSFC12-75 12
47 M10x 1.5P
PSC50xSFC14-80 14
59 27 34 1
PSC50xSFC16-80 80 50 16
M12x 1.75P
PSC50xSFC18-80 18
52 33 42
PSC50xSFC20-85 85 64 20 M16 x 2.0P
PSC50xSFC25-90 90 58 68 25 44 53 M20x 2.0P
PSC63xSFC6-80 6 M5 x 0.8P 2
36 20 26
PSC63xSFC8-80 80 53 8 Mé x 1.0P
PSC63xSFC10-80 42 10 24 32 M8 x 1.25P
PSC63xSFC12-80 56 12
47 M10x 1.5P
PSC63xSFC14-85 14
27 34
PSC63xSFC16-85 50 16 1
85 58 M12x 1.75P
PSC63xSFC18-85 18
52 33 42
PSC63xSFC20-85 20 M16 x 2.0P
PSC63xSFC25-90 90 66 25
58 44 53 M20x 2.0P
PSC63xSFC32-95 95 71 32

€| 23



. PSG/PNER :-: %"

— 7/

d

—

s ) b 4 4 T S
Specification 4 2 Size Range
PSC32xPNER16-45 45 29 30 30 ?3~310
PSC32xPNER20-45 2 32 32 ?3~013
PSC40xPNER16-55 55 30 30 - ?3~310
PSC40xPNER20-55 31 32 32 ?3~013
PSC50xPNER16-60 60 34

30 30 ?3~010
PSC50xPNER16-100 100 74 M10x1.5P
PSC50xPNER20-60 34 32 32 ?3~013
PSC50xPNER25-60 0 37 40 40 @3~016
PSC50xPNER32-60 50 50 @3~@20
PSC63xPNER16-60 35

30 30 ?3~310
PSC63xPNER16-100 100 75 M10x1.5P
PSC63xPNER20-60 60 35 -

32 32 @?3~313
PSC63xPNER20-100 100 75 M12x1.75P
PSC63xPNER25-60 60 35 -
PSC63xPNER25-100 100 75

40 40 23~016
PSC63xPNER25-130 130 105 M16x2.0P
PSC63xPNER25-160 160 135
PSC63xPNER32-60 60 35 -
PSC63xPNER32-100 100 75 50 50 @3~320

M16x2.0P

PSC63xPNER32-130 130 105
PSC63xPNER40-60 60 38 -

63 63 D6~D26
PSC63xPNER40-100 68
PSC80xPNER32-100 100 65 50 50 M16x2.0P @3~020
PSC80xPNER40-100 69 63 63 B6~D26

PNER LEK &3k

PNER COLLET

24 | &



€

. PSG/E

Ve YIS

I1SO 26623-1

COLLET CHUCK

d>

K RIFEE

Specification Size Range
PSC32xER16-45 a5 28 28 21~210
PSC32xER20-45 34 34 ?2~013
PSC40xER16-70 70 28 28 ?1~010
PSC40xER20-52 5 34 34 22~013
PSC40xER25-52 42 42 B2~016
PSC40xER32-54 54 50 50 @3~320
PSC50xER16-100 100 28 28 21~@10
PSC50xER20-55 55

34 34 @2~@13
PSC50xER20-100 100
PSC50xER25-55 55 42 42 B2~@16
PSC50xER32-57 57

50 50 @3~020
PSC50xER32-100 100
PSC63xER16-100 100 28 28 21~@10
PSC63xER20-60 60 34 34 @2~@13
PSC63xER25-60

42 42 B2~016
PSC63xER25-100 100
PSC63xER32-70 70

50 50 ?3~020
PSC63xER32-100 100
PSC63xER40-65 65 63 63 B3~026
PSC80xER20-65 34 34 ?1~013
PSC80xER25-70 20 42 42 21~016
PSC80xER32-70

50 50 @2~020
PSC80xER32-160 160
PSC80xER40-70 70

63 63 B3~026
PSC80xER40-160 160
PSC80xER50-80 80 78 78 D6~B34

ER LEK &3k

ER COOLANT COLLET

ER & LE K E3E

ER STEEL SEALED COLLET

ER 314 =3

ER COLLET

ER M4 F

SES

ER RIDID TAP COLLET

25



s

v

»
~

PSCE0XMLDZ0 - 55

N

v

Iiﬁr IEE ISO 26623-1

MULTI-LOCK MILLING CHUCK

UNIQUE QUAD COOLANT HOLES
IMPROVES COOLING SCOPE AND
CHIP REMOVAL RATE

B malslag st RS mal R HEETIEE

INTERNAL SLOTS PREVENT SLIPPAGE
AND INCREASE CLAMPING STRENGTH

RSLESIKBIEERET » BOLERTREFIRRIIIEE -
SIABIERHEHER - IRSERNZEMN

ADAPTABLE WITH OUR MLK SPANNERS

MRAL¥EE

JTIRAEEE - OEERDHIREFN
o fREEFSERE 0.001 - 0.005mm
A - EEEA0.02mm

R

TR AR R RIPESET - RE)
BEERREREIR - REIRFE
JfEsE -

REmE
Eﬁ'll B )ISimEHE R - BRAGEF
e e M R YR EE

HEmLkirFHEA

R

specification h 2l d:
PSC50xMLD20-75 75 20 56.5
PSC50xMLD32-90 90 32 71
PSC63xMLD20-75 75 20 56.5
PSC63xMLD32-85 85 32 71

Contact us for custom sizes and specifications

RIS - BELE - FR{CRIBERENRS

STRENGTH AND PREGISION

With its thick body design and superior clamping
strength, the MLD Multi-Lock system is one of the
most powerful on the market. The run-out radius
stays within 0.001-0.005mm, and the concentricity
around 0.02mm.

NEEDLE BEARINGS

By adopting a needle bearing system the MLD
increases rigidity and stops slippage, which makes
cutting much more consistent and convenient.

LOGKED GONTACT

Once locked, with a tolerance of under h6, the nut
and holder are very stable because of the increased
surface contact. This decreases the chances of
damage, improves rigidity and keeps particles out.

26

L



SEE % TR S

FACE MILL ARBOR

*Iki‘—
= ¢
| d2 D

| l1 l2
g
Specification 2 d d2 = @
PSC50xFMA3/4"-1.5" 1.5 1.69 0.75 0.875 0.31
PSC50xFMA1"-1.57" 157 2.19 0.19
PSCOIXFMAL 2" 0.69 219 1 1.187 0.375
PSC63xFMA1-1/4"-2" 2 2.75 1.25 15 0.25 0.5
PSC63xFMA1-1/2"-2" 0.99 2.95 1.5 1.75 0.35 0.63
PSC80xFMA3/4"-1.18" 0.75 0.875 0.19 0.31
PSC80xFMA1"-1.18" 1.18 0.69 3.15 1 1.187 ' 0.375
PSC80xFMA1-1/4"-1.18" 1.25 1.5 0.25 0.5
PSC80xFMA1-1/2"-2.36" 2.36 0.99 2.95 1.5 1.75 0.32 0.63

FE T
[
/TWHE o
ki k2

1

Specification

PSC32xFMB16-30 30

PSC40xFMB16-32 32 16 34 16 235 4 8
PSC40xFMB16-55 55

PSC40xFMB22-25 25

PSC40xFMB22-55 55 = >0 22 26 48 10
PSC50xFMB16-35 35

PSC50xFMB16-70 70 16 34 16 235 4 8
PSC50xFMB22-25 25 29 2 48 10
PSC50xFMB22-70 70 50

PSC50xFMB27-25 25 18 27 315 5.8 12
PSC50xFMB32-40 22 63 32 41 6.8 14
PSC63xFMB16-40 40 16 34 16 23.5 4 8
PSC63xFMB22-40 50 22 26 4.8 10
PSC63xFMB27-30 30 18 27 31.5 5.8 12
PSC63xFMB32-45 45 22 63 32 41 6.8 14
PSC63xFMB40-45 25 80 40 48 8.3 16
PSC80xFMB16-50 50 16 34 16 - 4 8
PSC80xFMB22-30 19 48 22 26 4.8 10
PSC80xFMB27-30 3 20 60 27 31.5 5.8 12
PSC80xFMB32-30 0 22 78 32 41 6.8 14
PSC80xFMB40-30 25 80 40 48 8.3 16
PSC80xFMB60-60 60 40 129 60 - 125 254
PSC80XxFMB40-40 40 25 80 40 48 8.3 16
PSC80XxFMB60-70 70 40 129 60 - 125 254

€| 27



PSC/SIN o50i2% oz

]dz

M

Specification I2 Is la E di ds T
PSC32xSLN6-45 275 6 25 M6
PSC32xSLN8-45 4 18 = 29 8 28 M8
PSC32xSLN10-50 50 20 39 275 10 35 M10
PSC32xSLN12-55 55 225 44 36 12 42 M12
PSC40xSLN6-50 1 N 255 6 25 M6
PSC40xSLN8-50 50 26 8 28 M8
PSC40xSLN10-50 20 39 27.5 10 35 M10
PSC40xSLN12-55 55 225 » 36 12 42 M12
PSC40xSLN14-50 50 37 14 44 M12
PSC40xSLN16-55 55 24 ) 47 39 16 48 M14
PSC50xSLN6-50 255 6 25 M6
PSC50xSLN8-50 >0 18 = 26 8 28 M8
PSC50xSLN10-55 55 20 39 275 10 35 M10
PSC50xSLN12 -60 025 " 36 12 42 12
PSC50xSLN14-60 37 14 44
PSC50xSLN16-60 60 39 16 48
PSC50xSLN18-60 24 47 - 18 50 M14
PSC50xSLN20-60 25 49 40 20 52 M16
PSC50xSLN25-80 80 24 25 54 60 25 65 M18
PSC63xSLN6-55 o 5 25 6 25 M6
PSC63xSLN8-55 2> ! > 26 8 28 M8
PSC63xSLN10-60 20 39 30 10 35 M10
PSC63xSLN12-60 60 33 12 42
PSC63xSLN14-60 225 | a4 335 14 44 M12
PSC63xSLN16-65 ) 355 16 48
PSC63xSLN18-65 65 4 47 39 18 50 Mi4
PSC63xSLN20-65 25 49 37.5 20 52 M16
PSC63xSLN25-80 80 o 25 54 58 25 65 M18
PSC63xSLN32-90 90 28 58 68 32 72 M20
PSC63xSLN40-100 100 30 32 68 77 40 90 M24
PSC80xSLN6-70 16 as 6 25 M6
PSC80xSLN8-70 8 28 M8
PSC80xSLN10-70 20 39 10 35 M10
PSC80XSLN12-70 o . ] " 35 12 42 V12
PSC80XSLN14-70 14 44
PSC80xSLN16-70 o 47 16 48 14
PSC80xSLN18-70 44 18 50
PSC80xSLN20-70 25 49 37 20 52 M16
PSC80xSLN25-90 90 o 25 58 59 25 65 M18
PSC80xSLN32-95 98 28 63 635 32 72 20
PSC80xSLN40-110 110 30 32 75 79.5 40 90
PSC80xSLN50-120 120 35 35 78 90 50 98 M24

28 | &



tH / #5HEEE )W 50266251

BORING HEAD SHANK

3

Il

di| d2

A AE H6

B - AR KENE

INTERNAL TOLERANCE IS H6.

THROUGH TOOL COOLANT FOR LESS VIBRATION.

K
Specification

PSC40xMCK2-45 45 19.5 14 24
PSC40xMCK3-40 40 17 18 31
PSC40xMCK4-33 33 12.5 22 39
PSC50xMCK2-85 85 60.5 14 24
PSC50xMCK3-55 55 30

18 31
PSC50xMCK3-80 80 55
PSC50xMCK4-48 48 23

22 39
PSC50xMCK4-73 73 48
PSC50xMCK5-50 50 30

28 50
PSC50xMCK5-83 83 63
PSC50xMCK6-50 50 30 36 63
PSC63xMCK2-90 90 53 14 24
PSC63xMCK3-65 65 38

18 31
PSC63xMCK3-100 100 73
PSC63xMCK4-58 58 31

22 39
PSC63xMCK4-93 93 66
PSC63xMCK5-48 48 22

28 50
PSC63xMCK5-83 83 57
PSC63xMCK6-59 59 37

36 63
PSC63xMCK6-94 94 72

e | 29



ER
= 1SO 26623-1

ADAPTER

" R
Specinfication _@
Wrench
SBT40xPSC32-30 30 32 T10-200
SBT40xPSC40-30 30 40 T12-200
SBT40xPSC50-30 30 50 T10-200
SBT40xPSC63-75 75 63 T12-200
SBT50xPSC32-40 40 32 T10-200
SBT50xPSC40-40 40 40 T12-200
SBT50xPSC50-40 40 50 T10-200
SBT50xPSC63-100 100
T12-200
SBT50xPSC63-150 150
SBT50xPSC63-200 200 63
SBT50xPSC63-250 250 -
SBT50xPSC63-300 300

> DAT/PSE ==....

A%
Specification

DAT40xPSC32-30 30 32
DAT40xPSC40-40 40 40
DAT40xPSC50-50 50 50
DAT40xPSC63-90 90 63
DAT50xPSC32-30 30 32
DAT50xPSC40-30 30 40
DAT50xPSC50-30 30 50
DAT50xPSC63-30 30

DAT50xPSC63-100 100

DAT50xPSC63-150 150 63
DAT50xPSC63-200 200

DAT50xPSC63-250 250

DAT50xPSC63-300 300

30 | &



MRS

Specification

. HSK/PS

ret
ES
ADAPTER

—

W]‘ﬂ

I1SO 26623-1

PSC NO.

-
=

&

A

di

HSK63AxPSC32-75 75 32

HSK63AxPSC40-80 80 40 T6-200
HSK63AxPSC50-90 90 50

HSK100AxPSC32-80 80 32

HSK100AxPSC40-90 90 40 T10-200
HSK100AxPSC50-100 100 50 T6-200
HSK100AxPSC63-110 110

HSK100AxPSC63-150 150 T10-200
HSK100AxPSC63-200 200 63

HSK100AxPSC63-250 250

HSK100AxPSC63-300 300 )

MG

Specification

= B Rl 5 A2
TEST BAR

I1SO 26623-1

PSC32x20-180 199 20 32
PSC40x32-180 204 180 40
PSC50x32-180 210 32

PSC50x32-245 275 245 63
PSC50x40-280 310 280

PSC63x40-182 220 182

PSC63x40-232 270 232 %0 75
PSC63x40-352 390 352

€| 31

31

L



# «
1SO 26623-1

EXTENSION ADAPTER(SAME DIAMETER)

PSC NO.

K
Specification
PSC32xPSC32-60 79 60
PSC32 32
PSC32xPSC32-80 99 80
PSC40xPSC40-60 84 60
PSC40 40
PSC40xPSC40-80 104 80
PSC50xPSC50-80 110 80
PSC50 50
PSC50xPSC50-100 130 100
PSC63xPSC63-80 118 80
PSC63xPSC63-100 138 100
PSC63xPSC63-140 PSC63 178 140 63
PSC63xPSC63-200 238 200
PSC63xPSC63-300 338 300

% 47¢¢ =
@ E 1% E IE.I 1SO 26623-1

ﬁ‘@l EXTENSION ADAPTER(DIFFERENT DIAMETER)
‘7 PSC NO.
p— ’

H

\M | | ||ﬁ 1

- L »
&
Specification
PSC40xPSC32-55 79 55
PSC40xPSC32-70 PSC32 94 70 32
PSC50xPSC32-60 84 60
PSC50xPSC40-65 89 65
PSC40 40
PSC50xPSC40-85 115 85
PSC63xPSC32-70 PSC32 108 70 32
PSC63xPSC40-80 PSC40 40
118 80
PSC63xPSC50-80
PSC50 50
PSC63xPSC50-110 148 110

32 | &



iR

BORING RANGE

A 332~0150

RS
Specification

HBEE

ACCURACY

oD 1745 @ Boring Range( IE#E )

Min.

Max.

L

l1

D)

oD 17,6 E Boring Range( &% )

Min. Max.

)

Is

d1

e RIS HERE (—8Sz0)

FINISH BORING HEAD

-
l —

ISO 26623-1

l1

L

‘@@

TR EE

Insert Seat

Is |

|
=
j@D
@d1

7R

Insert

32 42 - - - - - |SIB32-1/SIC32-1 TB-0601 EE{L.F% ACCESSORIES
PSC32xPMB32-85 | 41 | 51 |104|85| 69 | 46 | 51 SIB32-2/51C32-2
55 | 25 | 16 TP--0802
50 | 60 50 | 60 SIB32-3/5IC32-3 T)F INSERT 44
41 | 54 - [ -] [smarvsicara] Trceas M2-5.0-27-60
PSC40xPMB41-102 | 50 | 63 [126|102| 81 | 53 | 63 SIB41-2/SIC41-2| Q %
70 | 29 | 20 TC-1102 A (§
61 | 74 61 | 74 SIB41-3/SIC41-3 A‘A @«
53 | 70 62 | 70 SIB53-1/5IC53-1
PSC50xPMB53-112 | 65 | 82 |142|112| 915 | 65 | 82 | 74 | 34 |25.5[SIB53-2/51C53-2| 10 0202
78 | 95 78 | 95 SIB53-3/51C53-3 oo Ve 60meg0
68 | 100 80 | 100 SIB68-1/51C68-1 TC-1102 T
TP--0902 A
PSC63xPMB68-140 | 94 | 126 |178140| 117.5 | 94 | 126 |90.8|45.2|32.5]SIB68-2/5IC68-2 «
TC--1102 y @
118 | 150 118 | 150 SIB68-3/SIC68-3 <

A2 SIB/SICTIREE - TR ERSIMNEE
SIB/SIC insert seat sold separately.

LR

BORING RANGE |
#6~250

Specification

SR ZEELLEE (—5ER)

ISO 26623-1

BORING HEAD

- di

PSC40xPBJ10-48.5 725 48.5 28.5 39 10
PSC50xPBJ12-56 86 56 36 50 12
PSC63xPBJ16-67 105 67 45 63.5 16

€| 33




psn/pc“ EJEEEEE.ZEE%I{E;E}LEE ( _E%:_Et) 1SO 26623-1

mILEE | BE

BORING RANGE ABCURALY

| 539-5102 | 00.02mm it 3E AccessoriEs

J]JH INSERT 1244 SCREW iRF WRENCH
oD 157,56 CC--09T3 M4-10-5.7-60 T15
A Boring Range \\&‘@ :&
Specification . \\\\\\
Min. \EVE
PSC32 x PCK3950-80 39 50 99 80 32 CC--09T3
J]JH INSERT IRF WRENCH
PSC40 x PCK4965-82 49 65 106 82 42 CC--1204 T20
PSC50 x PCK6382-92 63 82 122 92 54 CC--1204 :&
PSC63 x PCK80102-140 80 102 178 140 68

®-
@ ? *Z ISO 26623-1

@w, BLANK ,

di

RI&
Specification d o
PSC32x@32-90 - 32
90 32
PSC32x@60-90 75 60
PSC40x@40-120 - 40
120 40
PSC40x@80-120 100 80
PSC50x@50-150 - 50
150 50
PSC50x@95-150 130 95
PSC63x@63-180 - 63
180 63
PSC63x@120-180 158 120
PSC80x@80-200 - 80 80
PSC80x@145-200 200 170 145
PSC80Xx@145-200 168 100

34 | &



TOOL HOLDER LOCKING DEVICE

RS

Specification

LD-PSC32

143
210 95 10 15 67 100
148

LD-PSC40
LD-PSC50
LD-PSC63

e | 35



BT R SR AT | WEB:WWW.CHMT.COM.TW E-MAIL:CHMTB@MS3 5. HINET.NET



(=

L HAIN

g |SVAVE|"[/A\ 4
WWW.CHMT.COM.TW

1 PR e e PR w]
CHAIN HEAIODOWAY MACHINE TIALS .13
SERANT : aEemEKESERK2318 155
TEL : +886-4-2626 5252 FAX : +886-4-2626 7941

BEENT . B HEKESZERK2315155% E5E: 04-2626 5252 {EHE : 04-2626 7941
BitP AT Fith = E & 2L E 2565526557 FE5E:02-2978 8234 85 : 02-2978 8250
MEEZER : B ERTEEEE 328157 E5E: 037-462 992 {5E : 037-462 248
BN RE BT RIE R E K605 gE5E : 04-2280 9292 {85 : 04-2280 1909
EREEM . P mEREERILEE—ERsHH T5E:04-2523 7272 {85 : 04-2523 3232
BENNE  BEhEE R MR —ER2138265 gE:E 1 06-3505 656 {8E : 06-3505 979
BIHEER . e AREBM=813-35% 5% :07-7810 560 {85 :07-7810 520

NO.08553-A1



	PSC-1
	PSC-2
	MEMO(新)
	封底(台灣)

